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1. RBIEE
HEHES 16,686,687 16,591,904 94,783
LEES 16,686,687 16,591,904 94,783
(REtEEE) 16,686,687 16,591,904 94,783
2. BIEEE
(1) EARBIE 10,546,000 10,546,000 0
EHTES 10,546,000 10,546,000 0
EHFEE-EE 10,546,000 10,546,000 0
(EARBIESET) 10,546,000 10,546,000 0
(2) BEEE 150,000 300,000 A 150,000
LEEBEFES 150,000 300,000 A 150,000
(BFEEESET] 150,000 300,000 A 150,000
(3) TDHDEEE = 2 2 0
T 2 2 0
(ZOtDOEEEEEE] 2 2 0
(B &EESE] 10,696,002 10,846,002 A 150,000
(BEAG] 27,382,689 27,437,906 A 55217
I BEDE
1. REIAE
KiLe 738,420 544,450 193,970
HEYE 411,555 552,960 A 141,405
BE55 4% 744,409 850,562 A 106,153
REBEEE] 1,894,384 1,947,972 A 53,588
(BEE&ET] 1,894,384 1,947,972 A 53,588
I IERREAEEDED
1. ¥§EIERREAE
Hite 10,546,000 10,546,000 0
(B EEREAE S ET] 10,546,000 10,546,000 0
OLEXRBME~DF T L%8) (10,546,000)|  (10,546,000) (0)
2. —fRIELRELE 14,942,305 14,943,934 A 1,629
OLEFEEE~DT H%0) (150,000) (300,000) (A 150,000)
[ERREtE&FT] 25,488,305 25,489,934 A 1,629
[BERUVIEKRBESET] 27,382,689 27,437,906 A 55217




